

COMPUTATION OF THE MORDELL-TORNHEIM ZETA VALUES

ALEKSANDAR PETOJEVIĆ AND H. M. SRIVASTAVA

(Communicated by Wen-Ching Winnie Li)

ABSTRACT. In this paper the authors present several algorithmic formulas which are potentially useful in computing the following Mordell-Tornheim zeta values:

$$\zeta_{MT,r}(s_1, \dots, s_r; s) := \sum_{m_1, \dots, m_r=1}^{\infty} \frac{1}{m_1^{s_1} \cdots m_r^{s_r} (m_1 + \cdots + m_r)^s}$$

for the special cases

$$\zeta_{MT,r}(1, \dots, 1; s) \quad \text{and} \quad \zeta_{MT,r}(0, \dots, 0; s).$$

Some interesting (known or new) consequences and illustrative examples are also considered.

1. INTRODUCTION

The following double series:

$$(1.1) \quad \sum_{m_1, m_2=1}^{\infty} \frac{1}{m_1^{s_1} m_2^{s_2} (m_1 + m_2)^s} \quad (s_1, s_2, s \in \mathbb{C})$$

was defined and studied by Tornheim (see [14]). Subsequently, Mordell (see [10]) considered a multiple series in the form:

$$(1.2) \quad \sum_{m_1, \dots, m_r=1}^{\infty} \frac{1}{m_1 \cdots m_r \prod_{j=0}^k \{(m_1 + \cdots + m_r + a + j)\}}$$

$$(r \in \mathbb{N} := \{1, 2, 3, \dots\}; k \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}; a > -r).$$

In particular, he deduced that (see [10])

$$(1.3) \quad \sum_{m_1, m_2=1}^{\infty} \frac{1}{m_1 m_2 (m_1 + m_2)} = 2\zeta(3),$$

Received by the editors June 20, 2007.

2000 *Mathematics Subject Classification*. Primary 11M06, 33E20; Secondary 11B73, 33B15.

Key words and phrases. Mordell-Tornheim zeta values, Riemann zeta function, gamma function, Stirling numbers of the first kind, polygamma functions, integral representations, recursion formulas, monotone convergence theorem.

where $\zeta(z)$ denotes the Riemann zeta function defined by (see, for details, [13, Section 2.3])

$$(1.4) \quad \zeta(z) := \sum_{k=1}^{\infty} \frac{1}{k^z} \quad (\Re(z) > 1).$$

For

$$r \in \mathbb{N} \quad \text{and} \quad s_1, \dots, s_r, s \in \mathbb{C},$$

Matsumoto (see [8] and [9]) defined the Mordell-Tornheim r -fold zeta function by

$$(1.5) \quad \zeta_{MT,r}(s_1, \dots, s_r; s) := \sum_{m_1, \dots, m_r=1}^{\infty} \frac{1}{m_1^{s_1} \cdots m_r^{s_r} (m_1 + \cdots + m_r)^s}.$$

He showed that the function $\zeta_{MT,r}(s_1, \dots, s_r; s)$ can be continued meromorphically to the whole $(r+1)$ -dimensional complex space and the multiple series in (1.5) is absolutely convergent when

$$\Re(s_j) > 1 \quad (j = 1, \dots, r) \quad \text{and} \quad \Re(s) > 0.$$

By using the following result of Mordell (see [10]):

$$\sum_{m_1, \dots, m_r=1}^{\infty} \frac{1}{m_1 \cdots m_r (m_1 + \cdots + m_r + a)} = r! \sum_{\ell=0}^{\infty} \frac{(-1)^\ell}{\ell! (\ell+1)^{r+1}} \binom{a-1}{\ell} \\ (a > -r; r \in \mathbb{N}),$$

Hoffman proved that (see [4])

$$(1.6) \quad \zeta_{MT,r}(1, \dots, 1; s) = r! \sum_{m_1 > m_2 > \cdots > m_s \geq 1}^{\infty} \frac{1}{m_1^{r+1} m_2 \cdots m_s} \quad (s \in \mathbb{N}; r \in \mathbb{N}).$$

Analogously, Subbarao and Sitaramachandrarao (see [11]) established the following interesting result:

$$(1.7) \quad \zeta_{MT,r}(1, \dots, 1; s) = (-1)^r r! \sum_{n=r}^{\infty} \frac{(-1)^n}{n!} \frac{\mathfrak{s}(n, r)}{n^s},$$

where $\mathfrak{s}(n, k)$ are the Stirling numbers of the first kind defined by

$$(1.8) \quad z(z-1) \cdots (z-n+1) = \sum_{k=0}^n \mathfrak{s}(n, k) z^k$$

or, equivalently, by the generating function:

$$(1.9) \quad \{\log(1+z)\}^k = k! \sum_{n=k}^{\infty} \mathfrak{s}(n, k) \frac{z^n}{n!} \quad (|z| < 1).$$

A detailed bibliography for the Mordell-Tornheim zeta values is given by Hoffman [5].

In this paper we derive algorithmic formulas for the evaluation of

$$\zeta_{MT,r}(1, \dots, 1; s) \quad \text{and} \quad \zeta_{MT,r}(0, \dots, 0; s),$$

which involve (for example) the Stirling numbers $\mathfrak{s}(n, k)$ and the Riemann zeta function $\zeta(z)$. Our proof of the algorithmic formula for $\zeta_{MT,r}(1, \dots, 1; s)$ is based upon the results given earlier by Choi and Srivastava [3] and by Subbarao and Sitaramachandrarao [11].

2. PRELIMINARY RESULTS

First of all, we find integral representations for the functions

$$\zeta_{MT,r}(0, \dots, 0; s) \quad \text{and} \quad \zeta_{MT,r}(1, \dots, 1; s).$$

Indeed, by applying the Eulerian integral:

$$(2.1) \quad z^{-s} = \frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} e^{-zt} dt \quad (\Re(s) > 0; \Re(z) > 0),$$

where $\Gamma(s)$ is the gamma function defined by

$$\Gamma(s) = \int_0^\infty t^{s-1} e^{-t} dt \quad (\Re(s) > 0),$$

we obtain

$$\frac{1}{m_1^{s_1} \dots m_r^{s_r} (m_1 + \dots + m_r)^s} = \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1} e^{-(m_1 + \dots + m_r)t}}{m_1^{s_1} \dots m_r^{s_r}} dt,$$

which, in view of the monotone convergence theorem, yields

$$(2.2) \quad \begin{aligned} \zeta_{MT,r}(s_1, \dots, s_r; s) &:= \sum_{m_1, \dots, m_r=1}^\infty \frac{1}{m_1^{s_1} \dots m_r^{s_r} (m_1 + \dots + m_r)^s} \\ &= \frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} \prod_{j=1}^r \left\{ \sum_{m_j=1}^\infty \frac{e^{-m_j t}}{m_j^{s_j}} \right\} dt. \end{aligned}$$

Thus, for $s_1, \dots, s_r \in \mathbb{C}$, we obtain

$$(2.3) \quad \zeta_{MT,r}(s_1, \dots, s_r; s) = \frac{1}{\Gamma(s)} \int_0^\infty t^{s-1} \prod_{j=1}^r \{ \text{Li}_{s_j}(e^{-t}) \} dt$$

($s_j \in \mathbb{C}; j = 1, \dots, r$),

where $\text{Li}_\nu(z)$ is the polylogarithm function defined by [13, pp. 114 and 124]:

$$(2.4) \quad \text{Li}_\nu(z) := \sum_{k=1}^\infty \frac{z^k}{k^\nu} \quad (\nu \in \mathbb{C} \text{ when } |z| < 1; \Re(\nu) > 1 \text{ when } |z| = 1).$$

Hence we find that

$$(2.5) \quad \zeta_{MT,r}(0, \dots, 0; s) = \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{(e^t - 1)^r} dt \quad (\Re(s) > r; r \in \mathbb{N})$$

and

$$(2.6) \quad \zeta_{MT,r}(1, \dots, 1; s) = \frac{(-1)^r}{\Gamma(s)} \int_0^\infty t^{s-1} \{ \log(1 - e^{-t}) \}^r dt \quad (\Re(s) > 1; r \in \mathbb{N}).$$

Next, for $m, r \in \mathbb{N}$, we introduce the following multiple sum:

$$(2.7) \quad P_m(s_1, \dots, s_r) := \sum_{\substack{k_1 + \dots + k_r = m \\ k_1, \dots, k_r \geq 1}} \frac{1}{k_1^{s_1} \dots k_r^{s_r}} \quad (m, r \in \mathbb{N}).$$

Using the Cauchy product of power series, we have

$$\begin{aligned}
 & \prod_{j=1}^r \left\{ \sum_{m_j=1}^{\infty} \frac{e^{-m_j t}}{m_j^{s_j}} \right\} \\
 &= \sum_{m=1}^{\infty} \sum_{k_{r-1}=1}^m \sum_{k_{r-2}=1}^{m-k_{r-1}+1} \sum_{k_{r-3}=1}^{m-k_{r-1}-k_{r-2}+2} \cdots \\
 & \quad \sum_{k_1=1}^{m-k_{r-1}-\cdots-k_2+r-2} \frac{e^{-(m+r-1)t}}{k_1^{s_1} k_2^{s_2} \cdots k_{r-1}^{s_{r-1}} (m+r-1-k_1-k_2-\cdots-k_{r-1})^{s_r}} \\
 (2.8) \quad &= \sum_{m=1}^{\infty} \sum_{\substack{k_1+\cdots+k_r=m+r-1 \\ k_1, \dots, k_r \geq 1}} \frac{e^{-(m+r-1)t}}{k_1^{s_1} \cdots k_r^{s_r}},
 \end{aligned}$$

so that

$$(2.9) \quad \prod_{j=1}^r \left\{ \sum_{m_j=1}^{\infty} \frac{e^{-m_j t}}{m_j^{s_j}} \right\} = \sum_{m=r}^{\infty} e^{-mt} P_m(s_1, \dots, s_r).$$

The relations (2.1), (2.2) and (2.9) yield the following result:

$$(2.10) \quad \zeta_{MT,r}(s_1, \dots, s_r; s) = \sum_{m=r}^{\infty} \frac{P_m(s_1, \dots, s_r)}{m^s}.$$

It is known that (cf. [6, p. 146, Equation (3)]; see also Equation (1.9) above)

$$(2.11) \quad \{\log(1-z)\}^r = r! \sum_{n=r}^{\infty} (-1)^n \mathfrak{s}(n,r) \frac{z^n}{n!}.$$

Since

$$\log(1-z) = - \sum_{n=1}^{\infty} \frac{z^n}{n},$$

we have

$$(2.12) \quad \{\log(1-z)\}^r = (-1)^r \sum_{n=r}^{\infty} P_n(\underbrace{1, \dots, 1}_r) z^n.$$

Thus, by comparing the coefficients of z^n in (2.11) and (2.12), we obtain the following relationship:

$$(2.13) \quad P_n(\underbrace{1, \dots, 1}_r) = (-1)^{n+r} r! \frac{\mathfrak{s}(n,r)}{n!}$$

with the Stirling numbers $\mathfrak{s}(n,r)$ of the first kind.

The Stirling numbers $\mathfrak{s}(n,k)$ of the first kind satisfy a recurrence relation in the form (see [13, p. 56, Equation (3)]):

$$(2.14) \quad \mathfrak{s}(n+1, k) = \mathfrak{s}(n, k-1) - n\mathfrak{s}(n, k) \quad (k = 1, \dots, n),$$

which, in conjunction with the relationship (2.12), yields

$$(2.15) \quad (n + 1)P_{n+1}(\underbrace{1, \dots, 1}_r) = rP_n(\underbrace{1, \dots, 1}_{r-1}) + nP_n(\underbrace{1, \dots, 1}_r).$$

3. MAIN RESULTS

By examining the Eulerian beta integral:

$$(3.1) \quad \int_0^1 (1 - t)^\lambda t^{\mu-1} dt = \frac{\Gamma(1 + \lambda)\Gamma(1 + \mu)}{\mu \Gamma(1 + \lambda + \mu)} \quad (\Re(\lambda) > -1; \Re(\mu) > 0),$$

in terms of the classical gamma function, Choi and Srivastava [3] introduced the following notation (see, for details, [3, p. 56]):

$$(3.2) \quad \frac{\Gamma(1 + \lambda)\Gamma(1 + \mu)}{\mu \Gamma(1 + \lambda + \mu)} = \sum_{n=0}^\infty A_n(\mu)\lambda^n \quad (A_0(\mu) = 1),$$

$$(3.3) \quad A_p(\mu) = \sum_{n=0}^\infty \Lambda_n^{(p)} \mu^n,$$

and

$$(3.4) \quad \psi(1 + \lambda) - \psi(1 + \lambda + \mu) = \sum_{n=0}^\infty B_n(\mu)\lambda^n$$

$$(B_0(\mu) = \psi(1) - \psi(1 + \mu)),$$

where

$$(3.5) \quad B_n(\mu) = (-1)^{n+1} \zeta(n + 1) - \frac{\psi^{(n)}(1 + \mu)}{n!} \quad (n \in \mathbb{N})$$

and

$$(3.6) \quad (n + 1)A_{n+1}(\mu) = \sum_{k=0}^n A_k(\mu)B_{n-k}(\mu) \quad (n \in \mathbb{N}_0)$$

in terms of the polygamma functions $\psi^{(n)}(z)$ ($n \in \mathbb{N}_0$) defined by

$$\psi^{(n)}(z) := \frac{d^{n+1}}{dz^{n+1}} \{\log \Gamma(z)\} = \frac{d^n}{dz^n} \{\psi(z)\} \quad (n \in \mathbb{N}_0),$$

$$\psi^{(0)}(z) = \psi(z)$$

being the relatively more familiar psi (or digamma) function.

In the proof of one of our main results (see Theorem 1 below), we shall be using the following results of Choi and Srivastava [3, p. 56, Equation (2.3)] and Subbarao and Sitaramachandrarao [11, p. 250, Equation (3.4)]:

$$(3.7) \quad \int_0^1 \{\log(1 - t)\}^p (\log t)^q \frac{dt}{t} = p! q! \Lambda_{q+1}^{(p)} \quad (p, q \in \mathbb{N}_0)$$

and

$$(3.8) \quad \sum_{m_1, \dots, m_r=1}^\infty \frac{1}{m_1 \cdots m_r (m_1 + \cdots + m_r + a)} = (-1)^r \int_0^1 t^{a-1} \{\log(1 - t)\}^r dt,$$

respectively.

Remark 1. The above formulas (3.7) and (3.8) are the *corrected* versions of the corresponding results given in [3] and [11], respectively.

Theorem 1. *The following recursion formula holds true for $\zeta_{MT,r}(1, \dots, 1; s)$ with respect to r :*

$$\begin{aligned}
 \zeta_{MT,r}(1, \dots, 1; s) &= \frac{(s+r-1)!}{s!} \zeta(s+r) - \sum_{n=1}^{s-1} \zeta(s-n+1) \zeta_{MT,r-1}(1, \dots, 1; n) \\
 (3.9) \quad &+ \sum_{k=1}^{r-2} \left[\frac{(r-1)!}{k!} \zeta(r-k) \zeta_{MT,k}(1, \dots, 1; s) \right. \\
 &\quad \left. - \binom{r-1}{k} \sum_{n=1}^s \frac{(s+r-n-k-1)!}{(s-n)!} \zeta(s+r-n-k) \zeta_{MT,k}(1, \dots, 1; n) \right] \\
 &\qquad\qquad\qquad (r, s \in \mathbb{N}),
 \end{aligned}$$

where an empty sum is interpreted to be nil.

Remark 2. It is easily observed from the assertion (3.9) of Theorem 1 that

$$(3.10) \quad \zeta_{MT,r}(1, \dots, 1; 1) = r! \zeta(r+1) \quad (r \in \mathbb{N})$$

and

$$(3.11) \quad \zeta_{MT,1}(1; s) = \zeta(s+1) \quad (s \in \mathbb{N}).$$

Proof of Theorem 1. Firstly, upon differentiating both members of (3.8) $s-1$ times with respect to a and then setting $a = 0$, we get

$$(3.12) \quad \zeta_{MT,r}(1, \dots, 1; s) = \frac{(-1)^{s+r+1}}{(s-1)!} \int_0^1 \{\log(1-t)\}^r (\log t)^{s-1} \frac{dt}{t}.$$

Now, if we compare (3.12) with the case $p = r$ and $q = s-1$ of (3.7), we readily arrive at the following relationship:

$$(3.13) \quad \zeta_{MT,r}(1, \dots, 1; s) = (-1)^{r+s+1} r! \Lambda_s^{(r)}$$

with the coefficients $\Lambda_n^{(p)}$ occurring in (3.3).

Secondly, in view of the following known expansion formula [1, p. 85, Equation (6.3.14)]:

$$\psi(z+1) = \psi(1) + \sum_{n=2}^{\infty} (-1)^n \zeta(n) z^{n-1} \quad (|z| < 1),$$

we find from the equations (3.3) to (3.6) that

$$\begin{aligned}
 (r+1) \sum_{s=0}^{\infty} \Lambda_s^{(r+1)} \mu^s &= \sum_{k=0}^{r-1} A_k(\mu) B_{r-k}(\mu) + A_r(\mu) B_0(\mu) \\
 &= \sum_{k=0}^{r-1} A_k(\mu) \left[(-1)^{r-k+1} \zeta(r-k+1) - \frac{\psi^{(r-k)}(1+\mu)}{(r-k)!} \right] \\
 (3.14) \quad &\quad + A_r(\mu) \sum_{k=1}^{\infty} (-1)^k \zeta(k+1) \mu^k \\
 &\quad (\Re(\mu) > 0 \quad \text{and} \quad |\mu| < 1).
 \end{aligned}$$

Now, by applying the known result [1, p. 86, Equation (6.4.9)]:

$$\psi^{(n)}(z + 1) = (-1)^{n+1} \sum_{k=0}^{\infty} (-1)^k \frac{(n+k)!}{k!} \zeta(n+k+1) z^k \quad (|z| < 1)$$

in (3.14), we obtain

$$\begin{aligned} (r+1) \sum_{s=0}^{\infty} \Lambda_s^{(r+1)} \mu^s &= \sum_{s=0}^{\infty} \Lambda_s^{(r)} \mu^s \sum_{s=1}^{\infty} (-1)^s \zeta(s+1) \mu^s \\ &\quad + \sum_{k=0}^{r-1} \left(\sum_{s=0}^{\infty} \Lambda_s^{(k)} \mu^s \right) \cdot \left[(-1)^{r-k+1} \zeta(r-k+1) \right. \\ (3.15) \quad &\quad \left. + \frac{1}{(r-k)!} \sum_{s=0}^{\infty} (-1)^{s+r-k} (s+1)_{r-k} \zeta(r-k+s+1) \mu^s \right], \end{aligned}$$

where $(\kappa)_n$ represents the Pochhammer symbol (or the *shifted factorial*) given by

$$(\kappa)_0 = 1 \quad \text{and} \quad (\kappa)_n := \frac{\Gamma(\kappa+n)}{\Gamma(\kappa)} = \kappa(\kappa+1) \cdots (\kappa+n-1) \quad (n \in \mathbb{N}).$$

Hence we have

$$\begin{aligned} (r+1) \sum_{s=0}^{\infty} \Lambda_s^{(r+1)} \mu^s &= \mu \left(\sum_{\ell=0}^{\infty} \Lambda_{\ell}^{(r)} \mu^{\ell} \right) \sum_{s=0}^{\infty} (-1)^{s+1} \zeta(s+2) \mu^s \\ &\quad + \sum_{\ell=0}^{\infty} \left(\sum_{k=0}^{r-1} (-1)^{r-k+1} \zeta(r-k+1) \Lambda_{\ell}^{(k)} \right) \mu^{\ell} \\ (3.16) \quad &\quad + \sum_{k=0}^{r-1} \frac{1}{(r-k)!} \left(\sum_{\ell=0}^{\infty} \Lambda_{\ell}^{(k)} \mu^{\ell} \right) \sum_{s=0}^{\infty} (-1)^{r-k+s} (s+1)_{r-k} \zeta(r-k+s+1) \mu^s, \end{aligned}$$

so that

$$\begin{aligned} (r+1) \sum_{s=0}^{\infty} \Lambda_s^{(r+1)} \mu^s &= \mu \sum_{s=0}^{\infty} \left(\sum_{n=0}^s \Lambda_n^{(r)} (-1)^{n-s+1} \zeta(s-n+2) \right) \mu^s \\ &\quad + \sum_{s=0}^{\infty} \left(\sum_{k=0}^{r-1} (-1)^{r-k+1} \zeta(r-k+1) \Lambda_s^{(k)} \right) \mu^s \\ &\quad + \sum_{k=0}^{r-1} \frac{1}{(r-k)!} \sum_{s=0}^{\infty} \left(\sum_{n=0}^s \Lambda_n^{(k)} (-1)^{r-k+s-n} (s-n+1)_{r-k} \right. \\ &\quad \left. \cdot \zeta(r-k+s-n+1) \right) \mu^s, \end{aligned}$$

that is, that

$$\begin{aligned}
 (r+1) \sum_{s=0}^{\infty} \Lambda_s^{(r+1)} \mu^s &= \sum_{s=1}^{\infty} \left(\sum_{n=0}^{s-1} \Lambda_n^{(r)} (-1)^{n-s} \zeta(s-n+1) \right) \mu^s \\
 &+ \sum_{s=1}^{\infty} \left(\sum_{k=0}^{r-1} (-1)^{r-k+1} \zeta(r-k+1) \Lambda_s^{(k)} \right) \mu^s \\
 &+ \sum_{s=1}^{\infty} \left[\sum_{k=0}^{r-1} \frac{1}{(r-k)!} \left(\sum_{n=0}^s \Lambda_n^{(k)} (-1)^{r-k+s-n} (s-n+1)_{r-k} \right. \right. \\
 &\left. \left. \cdot \zeta(r-k+s-n+1) \right) \right] \mu^s.
 \end{aligned}
 \tag{3.17}$$

We note here that the following recurrence relations hold true for $\Lambda_s^{(r)}$:

$$\Lambda_0^{(n)} = 0, \quad \Lambda_0^{(0)} = 1 \quad \text{and} \quad \Lambda_n^{(0)} = 0 \quad (n \in \mathbb{N})
 \tag{3.18}$$

and

$$\begin{aligned}
 r \Lambda_s^{(r)} &= \sum_{n=0}^{s-1} (-1)^{n-s} \zeta(s-n+1) \Lambda_n^{(r-1)} + \sum_{k=0}^{r-2} \left[(-1)^{r-k} \zeta(r-k) \Lambda_s^{(k)} \right. \\
 &\left. - \frac{1}{(r-k-1)!} \left(\sum_{n=0}^s (-1)^{r-k+s-n} \Lambda_n^{(k)} (s-n+1)_{r-k-1} \zeta(r-k+s-n) \right) \right].
 \end{aligned}
 \tag{3.19}$$

Formula (3.19) is obtained by comparing the coefficients of μ^s in (3.17).

Finally, using (3.18) and (3.19) in conjunction with (3.13), we have the assertion (3.9) of Theorem 1. The proof of Theorem 1 is thus completed. \square

Remark 3. The equations in (3.18) follow from (3.2) and (3.17).

Example. For $s \in \mathbb{N} \setminus \{1\}$ and $r = 2, 3$, Theorem 1 would provide the following special cases:

$$\zeta_{MT,2}(1, 1; s) = (s+1)\zeta(s+2) - \sum_{n=1}^{s-1} \zeta(s-n+1)\zeta(n+1)
 \tag{3.20}$$

and

$$\begin{aligned}
 \zeta_{MT,3}(1, 1, 1; s) &= (s+1)(s+2)\zeta(s+3) + 2\zeta(2)\zeta(s+1) \\
 &- \sum_{n=1}^{s-1} (n+1)\zeta(s-n+1)\zeta(n+2) \\
 &+ \sum_{n=2}^{s-1} \zeta(s-n+1) \sum_{m=1}^{n-1} \zeta(n-m+1)\zeta(m+1) \\
 &- 2 \sum_{n=1}^s (s-n+1)\zeta(s-n+2)\zeta(n+1).
 \end{aligned}
 \tag{3.21}$$

Equation (3.20) is a known result given in [11, p. 247, Equation (2.8)]. Equation (3.21), on the other hand, is equivalent to another known result [7, p. 128,

Corollary 4.3]. Thus, for $r \in \mathbb{N} \setminus \{1, 2\}$, the assertion (3.9) of Theorem 1 is presumably new.

We next establish a recursion formula given by Theorem 2 below.

Theorem 2. *The following recursion formula holds true for $\zeta_{MT,r}(0, \dots, 0; s)$:*

$$(3.22) \quad \zeta_{MT,r}(0, \dots, 0; s) = \frac{1}{(r-1)!} \sum_{m=1}^r \mathfrak{s}(r, m) \zeta(s-m+1) \quad (\Re(s) > r; r \in \mathbb{N}),$$

where $\mathfrak{s}(n, k)$ denotes the Stirling numbers of the first kind given by (1.8) and (1.9).

Proof. By integration by parts, it is easily seen that

$$\frac{s-1}{r} \int_0^\infty \frac{t^{s-2}}{(e^t-1)^r} dt = \int_0^\infty \frac{e^t t^{s-1}}{(e^t-1)^{r+1}} dt \quad (\Re(s) > r+1; r \in \mathbb{N}),$$

so that

$$(3.23) \quad \begin{aligned} & \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{(e^t-1)^{r+1}} dt \\ &= \frac{1}{r\Gamma(s-1)} \int_0^\infty \frac{t^{s-2}}{(e^t-1)^r} dt - \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{(e^t-1)^r} dt \\ & \quad (\Re(s) > r+1; r \in \mathbb{N}). \end{aligned}$$

Thus, by using the expression (2.5) in (3.23), we get the following recursion formula:

$$(3.24) \quad \zeta_{MT,r+1}(0, \dots, 0; s) = \frac{1}{r} \zeta_{MT,r}(0, \dots, 0; s-1) - \zeta_{MT,r}(0, \dots, 0; s).$$

Since

$$\zeta_{MT,1}(0; s) = \zeta(s),$$

the proof of Theorem 2 can be completed by mathematical induction on r in light of (2.14) and (3.24). \square

ACKNOWLEDGEMENTS

The research of the first-named author was supported, in part, by the Ministry of Science and Environmental Protection of the Republic of Serbia under Grant No. 149011D. The research of the second-named author was supported, in part, by the Natural Sciences and Engineering Research Council of Canada under Grant OGP0007353.

REFERENCES

- [1] M. Abramowitz and I. A. Stegun, *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*, Applied Mathematics Series **55**, National Bureau of Standards, Washington, D.C., 1964; reprinted by Dover Publications, New York, 1970. MR0167642 (29:4914)
- [2] S. Akiyama and Y. Tanigawa, Multiple zeta values at non-positive integers, *Ramanujan J.* **5** (2001), 327–351. MR1891413 (2003d:11136)
- [3] J. Choi and H. M. Srivastava, Explicit evaluation of Euler and related sums, *Ramanujan J.* **10** (2005), 51–70. MR2190721 (2006k:11161)
- [4] M. E. Hoffman, Multiple harmonic series, *Pacific J. Math.* **152** (1992), 275–290. MR1141796 (92i:11089)
- [5] M. E. Hoffman, References on multiple zeta values and Euler sum (available at <http://www.usna.edu/Users/math/meh/biblio.html>).

- [6] C. Jordan, *Calculus of Finite Differences*, Chelsea Publishing Company, New York, 1965. MR0183987 (32:1463)
- [7] C. Markett, Triple sums and the Riemann zeta function, *J. Number Theory* **48** (1994), 113–132. MR1285535 (95f:11067)
- [8] K. Matsumoto, On the analytic continuation of various multiple zeta-functions, in *Number Theory for the Millennium. II: Proceedings of the Millennial Conference on Number Theory* (Urbana, Illinois; May 21–26, 2000) (M. A. Bennett, B. C. Berndt, N. Boston, H. G. Diamond, A. J. Hildebrand and W. Philipp, Editors), pp. 417–440, A K Peters, Natick, Massachusetts, 2002. MR1956262 (2004a:11094)
- [9] K. Matsumoto, On Mordell-Tornheim and other multiple zeta-functions, in *Proceedings of the Session in Analytic Number Theory and Diophantine Equations* (Bonn; January-June 2002) (D. R. Heath-Brown and B. Z. Moroz, Editors), 17 pp., Bonner Mathematische Schriften **360** (25), Universität Bonn, Bonn, 2003. MR2075634 (2005f:11198)
- [10] L. J. Mordell, On the evaluation of some multiple series, *J. London Math. Soc.* **33** (1958), 368–371. MR0100181 (20:6615)
- [11] M. V. Subbarao and R. Sitaramachandrarao, On some infinite series of L. J. Mordell and their analogues, *Pacific J. Math.* **119** (1985), 245–255. MR797027 (87c:11091)
- [12] A. P. Prudnikov, Yu. A. Brychkov and O. I. Marichev, *Integrals and Series of Elementary Functions*, Nauka, Moscow, 1981 (in Russian). MR635931 (83b:00009)
- [13] H. M. Srivastava and J. Choi, *Series Associated with the Zeta and Related Functions*, Kluwer Academic Publishers, Dordrecht, Boston and London, 2001. MR1849375 (2003a:11107)
- [14] L. Tornheim, Harmonic double series, *Amer. J. Math.* **72** (1950), 303–314. MR0034860 (11:654a)
- [15] H. Tsumura, On Mordell-Tornheim zeta values, *Proc. Amer. Math. Soc.* **133** (2005), 2387–2393. MR2138881 (2006k:11179)

FACULTY OF EDUCATION, UNIVERSITY OF NOVI SAD, PODGORIČKA 4, YU-25000 SOMBOR, SERBIA

E-mail address: apetoje@ptt.yu

DEPARTMENT OF MATHEMATICS AND STATISTICS, UNIVERSITY OF VICTORIA, VICTORIA, BRITISH COLUMBIA V8W 3R4, CANADA

E-mail address: harimsri@math.uvic.ca